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(A) 25:16 (B)16:25 (C)36:25 (D)49:36 (E)None of these

Q.17:-A fruit vendor sells apples and oranges and gets equal revenue from each. He gets ma 
profit of 20% on each apple and a profit of 25% on each orange. If the ratio of the number 
of oranges sold to the number of apples sold is 3:2, what is the ratio of the cost price of an 
orange to that of an apple?
एकफल विके्रता सेबऔर संतरे बेचता है और प्रते्यक से समान राजस्वप्राप्तकरता है। उसे
प्रते्यक सेब पर 20% कालाभऔर प्रते्यक संतरे पर 25% कालाभ प्राप्तहोता है। यवि बेचे गए
संतरो ंकी संख्याका बेचे गए सेबो ंकी संख्या से अनुपात 3: 2 है, तो एक संतरे के लागत मूल्यका
एक सेब के क्रय मूल्य से अनुपातक्या है?
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(A)24 : 9 : 10 (B)9 : 10 : 24 (C)10 : 9 : 24 (D)8 : 6 : 5 (E)None of these

Three persons A, B and C invest in ratio of 3:4 :2. if the ratio of their share in profit was 
5:6:8 Then find the ratio of their investment time?
तीनव्यक्ति A, B और C 3:4:2 के अनुपात में वनिेश करते हैं। यवि लाभ में उनके वहसे्स का अनुपात
5:6:8 था तो उनके वनिेश समयका अनुपात ज्ञात कीवजये?
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(A)1.5 (B)2 (C)1.75 (D)1.25 (E)1.15

Rashmi covers a distance of 225 meters in 1.5 minutes. Find the time taken by her to a cross 
plateform 187.5 meter long.
रक्ति 1.5 वमनट में 225 मीटर की िूरी तय करती है। उसके द्वारा 187.5 मीटर लंबे क्रॉस पे्लटफॉमम
पर लगने िाले समयका पता लगाएं।
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(A)32 (B) 36 (C)60 (D)72 (E)None of these

A can complete a piece of work in 48 days, B is 60% less efficient than C and C is 20% more 
efficient than A. If the ratio of efficiency of B and D is 3:4. Then in how many days D can 
complete the whole work alone? 
A एककायम को 48 विनो ं में पूरा करसकता है, B, C से 60% कम कुशल हैऔरC, A से 20% 
अविक कुशल है। यवि B औरD की िक्षता का अनुपात 3:4 है। तोD अकेले पूरे कामको वकतने
विनो ं में पूरा कर सकता है?
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(A)55 (B) 45 (C) 85 (D)CND (E)None of these

The average marks obtained by all student in a class is 75.5. Average marks of boys is 70 and 
the average marks of total girls is equal to number of boys in class. Find the number of 
students in class.
एककक्षा में सभी छात्ो ं द्वारा प्राप्तऔसत अंक 75.5 है। लड़कों के औसत अंक 70 हैं और कुल
लड़वकयो ं के औसत अंककक्षा में लड़कोंकी संख्या के बराबर हैं। कक्षा में छात्ो ं की संख्या ज्ञात
कीवजए।
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(A)12km/hr (B)10km/hr (C)16km/hr (D)6km/hr (E)8km/hr

A man returns back in 8 hours on rowing 30 km downstream. If speed of the boat in still 
water is four times the speed of the stream. Then find the speed of the boat?
एकव्यक्तििारा के अनुकूल 30 वकमी नाि चलाकर 8 घंटे में िापस लौटता है। यवि शांत जल में
नाि की गवत िारा की गवत की चार गुनी है। तो नाि की गवत ज्ञात कीवजये?
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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)341.42 (B)265.2 (C )288.4 (D)342.75 (E)None of these

What value should come in the place of question mark(?)in the following questions?

1. 37.5 % of 848 − 24% of 220 = ?
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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A) 1090 (B)890 (C )1070 (D)1060 (E)1290

What value should come in the place of question mark(?)in the following questions?

2. 24 × 37 + 18² −  2091 ÷ 17 = ?
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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)65 (B)85 (C )75 (D)55 (E)None of these

What value should come in the place of question mark(?)in the following questions?

3.  313 × 17 + 19 × 16 = ?²
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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)211.4 (B)240.9 (C )312.5 (D)207.8 (E)None of these

What value should come in the place of question mark(?)in the following questions?

4. 145% of 340 + ?% of 250 = 112.5% of 900
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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)122 (B)123 (C )124 (D)125 (E)126

What value should come in the place of question mark(?)in the following questions?

5. √676 + 51 +√2401 = ? 
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What value should come in the place of question mark(?)in the following questions?

6. 18% of 250 + 35%of 300 − 15%of 400 = ?

(A)83 (B) 80 (C)90 (D) 70 (E) 85
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What value should come in the place of question mark(?)in the following questions?

7. 3333.33+333.333+33.3333+3.33 = ?

(A)3370.2363 (B)3730.2363 (C)3702.3363 (D) 3730.3263 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

8 . 226×24−12× 88 + 592 =?

(A)7859 (B)8749 (C)8794 (D) 7894 (E) 7849
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What value should come in the place of question mark(?)in the following questions?

9 . √1444+√5184 = 22× ?

(A)3 (B)4 (C)5 (D) 6 (E) None of these
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(A)56.625 (B)57.375 (C)60.25 (D)59.125 (E)None of these

What value should come in the place of question mark(?)in the following questions?

10. 41 × 37 − 36 × 29 = ? % of 800 

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

21 .  24  , 25 , 49 , 74 , ? , 197

(A)143 (B)133 (C)124 (D)123 (E)119
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What should come at place of the question mark (?) in the following number series ?

22 .  192 ,  196 ,  205  ,  230 , ? , 400

(A)279 (B)290 (C)289 (D)289 (E)349

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

23 .  25272 , 16848  , ? , 7488 , 4992 , 3328

(A)24512 (B)18512 (C)13652 (D)11562 (E)11232
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What should come at place of the question mark (?) in the following number series ?

24 . 216  , 218 , 221 , 225 , 234 , ?

(A)312 (B)282 (C)242 (D)232 (E)252
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What should come at place of the question mark (?) in the following number series ?

25 . 111  , 120 , 256 , 789 , 3180 , ?

(A)15925 (B)14925 (C) 16295 (D)10925 (E)12925
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Directions (Q. 26-30):  Direction for Question

Read the following information carefully to answer the questions asked

Total marks obtained by a student in unit test 1 and unit test-2

पूछे गए प्रश्ो ं के उत्तर िेने के वलए वनम्नवलक्तित जानकारी को ध्यानपूिमक पढें यूवनट टेस्ट 1 और

यूवनट टेस्ट -2 . में एक छात् द्वारा प्राप्त कुल अंक

8%

12%

14%

20%

28%

18%

Total marks obtained in unit test 
1 = 950

Sanskrit

Hindi

English

Science

Maths

History

18%

20%

22%

16%

14%

10%

Total marks obtained in unit 
test -2 =800

Sanskrit

Hindi

English

Science

Math

History
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(A)15:16 (B)20 : 27 (C)18 : 23 (D)19 : 24 (E)None of these

Q.26 :- What is the respective ratio between the marks obtained by student in Hindi in test -
1 to that in Sanskrit in test -2 ?
परीक्षा -1 में छात् द्वारा वहंिी में प्राप्त अंको ंऔर परीक्षा -2 में संसृ्कत में प्राप्त अंको ं के बीच
संबंवित अनुपातक्या है?

8%

12%

14%

20%

28%

18%

Total marks obtained in 
unit test 1 = 950

18%

20%

22%

16%

14%

10%

Total marks obtained in unit 
test -2 =800

Sanskrit

Hindi

English

Science

Math

History
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(A)62% (B)71% (C)66% (D)57% (E)None of these

Q.27:-The marks obtained by the student in English in test-1 is approximately what percent 
more than that in History in test-2
परीक्षाथी द्वारा परीक्षा-1 में अंगे्रजी में प्राप्त अंक, परीक्षा-2 में इवतहास के अंक से लगभग वकतने
प्रवतशत अविक है?

8%

12%

14%

20%

28%

18%

Total marks obtained in 
unit test 1 = 950

18%

20%

22%

16%

14%

10%

Total marks obtained in unit 
test -2 =800

Sanskrit

Hindi

English

Science

Math

History
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(A)43% (B)37% (C) 32% (D)48% (E)None of these

Q.28 :-The marks obtained by the student in Sanskrit in test -1 is approximately what 
percent of that in English in test -2 ?
परीक्षा -1 में छात् द्वारा संसृ्कत में प्राप्त अंक, परीक्षा -2 में अंगे्रजी में प्राप्त अंको ंका लगभग
वकतना प्रवतशत है?

8%

12%

14%

20%

28%

18%

Total marks obtained in 
unit test 1 = 950

18%

20%

22%

16%

14%

10%

Total marks obtained in 
unit test -2 =800

Sanskrit

Hindi

English

Science

Math

History
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(A)88 (B)94 (C)98 (D)91 (E)None of these

Q.29 :-What is the difference between the marks obtained by the student in History in test-1 
and test-2?
इवतहास में परीक्षाथी द्वारा टेस्ट-1 और टेस्ट-2 में प्राप्त अंको ं के बीच वकतना अंतर है?

8%

12%

14%

20%

28%

18%

Total marks obtained in 
unit test 1 = 950

18%

20%

22%

16%

14%

10%

Total marks obtained in 
unit test -2 =800

Sanskrit

Hindi

English

Science

Math

History

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)372 (B)378 (C)376 (D) 371 (E)None of these

Q.30 :-What is the sum of the marks obtained by the student in Math in test-1 and test -2 ?

छात् द्वारा परीक्षा-1 और परीक्षा-2 में गवित में प्राप्त अंको ंका योग वकतना है?

8%

12%

14%

20%

28%

18%

Total marks obtained in 
unit test 1 = 950

18%

20%

22%

16%

14%

10%

Total marks obtained in 
unit test -2 =800

Sanskrit

Hindi

English

Science

Math

History
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(A) 6 (B)5 (C)8 (D)9 (E)None of these

If A,B and C can do a job working alone in 12, 18 an 36 days respectively. They all together 
work for 2 days, then B quits. How many days will A and C take to finish the rest of the 
amount ? यवि A, B और C अकेले कायम करते हुए वकसी कायम को क्रमशः 12, 18 और 36 विनो ं में
पूरा कर सकते हैं। िे सभी वमलकर 2 विन कामकरते हैं, वफर B कामछोड़ िेता है। शेष रावश को
पूरा करने में A और C को वकतने विन लगेंगे?
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(A) 60 (B)56 (C) 40 (D)48 (E)None of these

Priya's marks in history and geography are in the ratio of 5:7. If she got 16 marks more in 
Geography than history. What are her history marks?
इवतहासऔर भूगोल में वप्रया के अंक 5:7 के अनुपात में हैं। अगर उसे इवतहास से भूगोल में 16 
अंकज्यािा वमले। उसके इवतहास के वनशानक्या हैं?
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(A) 1650 (B)1285 (C)1626 (D)1254 (E)None of these

Karan purchased 5 shirts at an average cost of Rs 1524. If he buys two more shirts at an 
average cost of Rs.1881. What will be the average cost of all the shirts he buys?
करि 1524 रुपये कीऔसतकीमत पर 5 शटम िरीिता है। यवि िह 1881 रुपये कीऔसत
कीमत पर िोऔर शटम िरीिता है। उसके द्वारा िरीिी गई सभी कमीजो ंकाऔसत मूल्यक्या
होगा?
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(A) 80 (B) 60 (C)90 (D)75 (E)None of these

The ratio of the ages of A and B, four year ago, was 4:5. Eight years from now, the ratio of 
the age A and B will be 11:13. What is the sum of their present ages?
चार िषम पूिम A और B कीआयु का अनुपात 4:5 था। अब सेआठ िषम बाि, A और B कीआयु का
अनुपात 11:13 होगा। उनकी ितममानआयु का योगक्या है?
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(A)44 (B)44.5 (C)43 (D)43.5 (E)None of these

The average of 12 numbers is 42. The average of the last five number is 40, and that of the 
first four number is 44. The 6th number is 6 less than the 5th and 5 less than 7th number. 
The average of 5th and 7th number is? 12 संख्याओं काऔसत 42 है। अंवतम पााँच संख्याओं
काऔसत 40 है, और पहली चार संख्याओं काऔसत 44 है। छठी संख्या 5िी ं संख्या से 6 कम
और 7िी ं संख्या से 5 कम है। 5िी ंऔर 7िी ं संख्या काऔसत वकतना है?
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(A)Dec 10 % (B) Dec 2% (C)Inc 10% (D)Inc 2% (E)None of these

The income of Raju is 20% more than his expenditure. If his income increases by 60% and 
his expenditure is increase by 70% then by what percent does his saving increases/decreases?
राजू कीआय उसके व्यय से 20% अविक है। यवि उसकीआय में 60% की िृक्ति होती है और
उसके व्यय में 70% की िृक्ति होती है, तो उसकी बचत में वकतने प्रवतशतकी िृक्ति/कमी होती है?
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(A)5 (B)8 (C)6.5 (D)5.5 (E)None of these

The marked price of an article is Rs. 315. It sold for Rs. 288, if there is a loss of 4%, then by 
what percent above the cost is the article marked?
एक िसु्त का अंवकत मूल्यरु. 315. यह रुपये में वबका। 288, यवि 4% की हावन होती है, तो िसु्त
को लागत से वकतने प्रवतशत अविक अंवकत वकया जाता है?
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Q.18 :- In how many ways can the walls of a cuboidal box be painted using six different m 
colours using one colour for each wall if six different symbols are carved on the box with 
one on each wall?
यवि प्रते्यक िीिार पर एक के साथछहअलग-अलगप्रतीको ंको बॉक्सपरउकेरा गया है, तो
प्रते्यकिीिार के वलए एक रंगका उपयोगकरके छहअलग-अलग रंगो ंका उपयोगकरके एक
घनाकार बॉक्सकी िीिारो ंको वकतने तरीको ं से वचवत्त वकया जा सकता है ?

(A) 240 (B)560 (C)720 (D)360 (E)180
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(A)4km/h,9km/h (B)8km/h, 5km/h (C)9km/h, 4km/h (D)5km/h, 8km/h (E)10km/h, 3km/h

Q.19 :- Rohit can row a boat 65Km upstream and 130Km downstream in 23 hours, whereas 
m he can swim 45Km upstream and 104Km downstream in 17 hours. Find the speed of 
boat in still water and the speed of stream.
रोवहत एकनािको िारा के प्रवतकूल 65 वकमीऔरिारा के अनुकूल 130 वकमी 23 घंटे में तैर
सकता है, जबवकिह िारा के प्रवतकूल 45 वकमीऔरिारा के अनुकूल 104 वकमी 17 घंटे में तैर
सकता है। शांत जलमें नािकी गवतऔरिारा की गवत ज्ञातकीवजए।
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(A)33/455 (B)34/455 (C)44/455 (D)47/455 (E)None of these

Q.20 :- A box contains 4 red, 5 black and 6 green balls. 3 balls are drawn at random. What is 
the probability that all the balls are of same colour?
एकबॉक्समें 4 लाल, 5 कालीऔर 6 हरी गेंिें होती हैं। 3 गेंिो ंको यादृक्तिकरूप से वनकला वकया
गया हैक्या संभािना है वकसभी गेंिें एक ही रंग की हैं?
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(A)4 1/3 (B)5 1/3 (C)6 1/3 (D)3 1/3 (E)None of these

Q.21 :- A tank has 2 pipes. The first pipe can fill it in 4 hours and the second can empty it in 
16 hours. If two pipes are opened together at a time, then the tank will be filled in.
एकटैंक में 2 पाइप हैं। पहला पाइप इसे 4 घंटे में भर सकता है और िूसरा इसे 16 घंटे में िालीकर
सकता है। यवि एकबार में िोनो पाइप एकसाथिोले जाते हैं, तो टैंक वकतने समयमें भरजाएगा।
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(A)33.33% (B)42.85% (C)28.56% (D)16.66% (E)None of these

Q.22 :- Mr. Sangram's salary was reduced by 25% for three months. But after the three 
months, his salary was increased to the original salary. What is the percentage increase in 
salary of Mr. Sangram?
श्री संग्रामका िेतन तीन महीने के वलए 25% घटा विया गया था। लेवकन तीन महीने के बाि, 
उनका िेतन मूल िेतन में बढा विया गया। श्री संग्राम के िेतन में प्रवतशत िृक्तिक्या है ?
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(A)200 (B)250 (C)300 (D)180 (E)None of these

Q.23 :- A, B and C rent a pasture. A puts 15 cows for 6 months, B puts 20 cows for 4 months 
and C puts 10 cows for 8 months for grazing. If the rent of the pasture is Rs 500, how much 
must A pay as his share of rent? 
A, B औरC एकचारागाह वकराए पर लेते हैं।A, 6 महीने के वलए 15 गायें डालता है, B, 4 महीने के
वलए 20 गायें डालता हैऔर C 8 महीने तकचराई के वलए 10 गायें डालता है। यवि चारागाहका
वकराया 500 रुपये है, तोA को उसके वहसे्स के वकराए केरूपमें वकतना भुगतानकरना होगा?
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(A)65.5 km/h (B)44km/h (C)60.5km/h (D)62.5km/h (E)None of these

2 oct-A man completed a certain distance by car . He covered 40% of distance at the speed of 
50 km/hr, he cover 20% of remaining distance at the speed of 60 km/hr and he cover 
remaining distance in 6 hours. What is the average speed of man for whole journey ?
एकआिमी ने कार से एक वनवित िूरी पूरी की। िह 40% िूरी 50 वकमी/घंटा की गवत से तय
करता है, िह शेष िूरी का 20% 60 वकमी/घंटा की गवत से तय करता है और शेष िूरी 6 घंटे में तय
करता है। पूरी यात्ा में मनुष्य कीऔसत गवतक्या है?
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